OBSTACLE

CORDE

AMARRAGES

OBSERVATIONS

L:30

P 6
P8
P 60

45 m

i corde
10 m

75 m

AN (arbre), MC,
spit
-2
-’|5 :

2 spits
AN (dév.)

2 spits

AN (concrétion), MC,
-2, 2 AN (lames)

=33 : un spit

=37 :+ 1 spit

41

R %2

40 m

R

Pts des Dalles

2 AN (lames)
-5 : spit
-17 : AN (lame)

~14

-14

-27

-105

148

lucarne

P 14,5

B4 5
P. 20

P-29

P 25

P 14,5

20' m

25 m

40 m

30 m

20 m

Les Lucarnes

AN (concrétions)
=4 : AN (dév.)

2 spits
AN a -4

2 AN(concrétions)
=4t spit (dév.)

2 spits

2 spits

-4 3 AN gconcr.)
-8 : AN (dév.
-231 AN (dév.
-25: spit

AN (coner.)
%4 : 2 spita (Y)
-13%: spit

2 spits
-6 : AN (dév.)

Corde en place
pour s'aider

Pts paralléle
au P 20

Avant 1l'étroiture
Aprés 1l'étroiture

e




